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Labour Market Equlibrium
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Demand for domestic labor in sector z is givenby :
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https://samuelwills.files.wordpress.com/2012/11/msced2011_trade-class-1.pdf







“How can trade between very similar countries be explained? Are welfare gains from 
trade likely to be greater for two very similar, or for two very different countries?”















Week 5 :

Global Facts & Trade Basis

Lecture



Fact : Global Imbalances

current account financial account : financial assets transaction
Goods Balance : G*-G

,
textiles , oil , cars ...

= trade balance Service Balance : SY-SM,
education

, consulting ...
=> B = trade surplus / deficit

+ income balance Net Investment Income (incomefrom Capital3 Net International Paymentsto Employees (from labour
+ net unilateral transfers >Personal RemittancesEyExf) Government Transfers

, 3similaristant





























• Upon news of the giant oil discovery, 
investment experiences a boom that lasts for 
about 5 years.
• Saving declines and stays below normal for 
about 5 years, before rising sharply for several 
years.
• The current account deteriorates for 5 years 
and then experiences a reversal with a peak in 
year 8.
• Output is relatively stable until the fifth year, 
and then experiences a boom.
• The investment boom and the fall in saving 
and the current account last for
roughly the delay from discovery to production 
typical in the oil industry.











































salient divide is not between predetermined crises driven by deterioration of observable 
fundamentals versus crises triggered by coordination problems between speculators 
and central bank
Instead, what matters is whether policy is perceived as exogenous or endogenous



Crises triggered by balance sheet problems lead to severe economic downturns
• ↑D for foreign assets forces the economy to generate more resources to purchase them 
(CA reversal), usually via sharp contraction in imports
• Capital losses 
• Result: “output overshooting” – greater output drops than ultimately allowed for by 
improvement in competitiveness through devaluation
• But also fast recoveries – so “V-shape” recoveries





1. prevailing framework for currency crises (-1990s): the speculative attack model developed 
by Krugman (1979) and Flood and Garber (1984).

cause: runs on foreign exchange reserves (excessively expansionary monetary and fiscal policies)
contribution: show that the run need not be ascribed to the irrationality of market participants and in 
fact is the joint result of bad policies on the side of policymakers and rational arbitrage on the side 
of speculators.

However, This view of currency crises was put in question after the EMS (European Monetary 
System) crisis of 1992– 3. European (non-German) policymakers were caught in a dilemma between 
their desire to reduce interest rates and their commitment to the ERM (European Exchange Rate 
Mechanism).

2.   escape clause approach. (second generation)
main idea: A currency crisis is a situation in which private agents, given the prevailing conditions, 
perceive that the policymaker is on the brink of exercising the escape clause.
• contribution1

• contribution2
provides a new theory of self-fulfilling speculation










